| N of simulated tracks vs dxy | N of associated tracks (simToReco) vs dxy |

(%) [ (%)

o - o

Q - =

T, 5 o]

<.U]-O RS R A Rt E R Mt AR R b q)

o F 510°

o)) C - S

§= C k=

X - (%]

(&) [

9104 E_ ........................................................................ 8

ol E Q
C @10
T

=
o
w

10? £

B0p

e swm i
0.950 . 0.95%

—25201510—50 510152025 —2520151050 510 15 20 25
TP dxy (cm) TP dxy (cm)

=== DQM _V00UI_ROU000000T _Global _mKFitbase _RECO
_ —e— DQM_V0001_R000000001__Global_mkFitCHIN__RECO
[N of simulated trac —,— pOM_ V0001 R000000001_Global _mkFitNDOF _ RECO
—.— DQM_V0001_R000000001 _Global_mkFitNDOF2_ RECO

OJ. VO

Ratl
Rati

[7p] C . [7p]
@ : : a
O i : : —
5 - 3
L R E
g f mit 2107
4 B S = : n
(&) - o . [
S r . 5 3
= 3 ® Q
10 5_ """""""""""" m T [ :ﬂ """""""""""" o
I = 10
- ﬁﬁ {:b

2B :.-.aaw';-if; ........... SRR SRR SR A
107y i e | O
: : : : L

.

oL-vo

Rati

hlllljéuﬂl””?
[
09365 =20 -10 0 10 20 30 093620 =10 0 10 20 30
TP dz (cm) TP dz (cm)




	Contents
	Page 1


